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log10(N>S)-log10(S)

cumulative number of sources detectable at a given 
telescopic sensitivity

S = [ergs s-1 cm-2]
N = number of sources brighter than S
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simple example
uniformly distributed source population

all sources have same intrinsic luminosity
f(L) = δ(L− L0)

for telescope sensitivity S, source will be detectable to

number of sources within this distance
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simplified general case

cosmology makes it more complicated
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typical case
a set of detected sources with observed counts

with associated detector location, background, exposure

background and exposure determine detection threshold

detection probability is usually tabulated

Problem: Model N(>S) as a single power-law
or broken power-law
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logN-logS

Next up:
Andreas Zezas (Univ. of Crete)
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